/| QARSI | el | 5T 1o | Ay @

0 ;Uf S0 Sy | SSC(Part-1) | SSC-AWIS, Wﬂhﬂ@a =
. .
@HII?I/J:IJI o § ek 8

2 i,ngI.' 2

Q. \02 3 and 4 and attempt any (03) questions
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The price of 20 pens 4isRs. 2000, What will be the price of 40 such pens? :
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Il the Simple Profit on Rs. 640 for 12 years 15 384, then find
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Simplify and write vour answer In Scientific Notation,
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If the AM. between "a and 16" is 24, then find the valuegof "a’.
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What is meant by Onto Function? Iq_:lfl:';;. uiﬁi:'uf (iii)
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Draw Graph of y = 3,
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The inherited property amounting to Rs.20,00,000 is left by a deccased , He left

behind 2 widow and two sons. Workout the share of each.
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A shopkeeper gains a profit of 7 % by “m%%@ 8521 he sells |
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Ali deposited Rs.2000 in NBP in his saving A/C fﬁr Zyears, @3 % pa What-would
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; The total taxable income of two persons is Rs.2,50,000 and Rs. 3,10,000 respectively,

Workout the income tax for each of them uat the rate of 4+ 5 %,

The radius of earth is 6400 Km. Convert it into meters and write the solution in

Scientific Nofation, .
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A machine installed by the bank to dispense cash to customers is called an
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